** _ Inter. (Part-I)-A- 2015

| |RollNﬂ._ tobe filledinbythecandidate. | (For all SESSiOI‘lS) PaperCode | 6 | 1 | 9
Mathematics (objective Type) :
Time: 30 Minutes |

 Marks: 20 .

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill

the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

2x* +5 |
1-1. The fraction x—3 IS

(A) proper (B) rational (C) polynomial .(D} improper
th
2. (”+1) term of an A-P is:
) @ +(n-1)d @ 4—(n-1)d ©) @+nd ©) % ~nd

3. Multiplicative inverse of (1, 0 ) is:

-1
4.1f a,be G and G is agroup, then (“b ) is equal to:

- e ~] 1
(A) ﬂ. l'ff' | | (B) b a™ (C) E (D) (ab)h]

5. If Ais 2 subset of B and A=B then A is:

(A) proper subsetof B (B) super set of B (C) improper subset of A (D) proper subset of A

1 0 0]
0 1 0}
6. Rank of is:
0 0 0“
(A) 1 | (B) 2 €) 3 (D) 4
7. If A and B are any two non singular matrices then (A!B)_1 is equal to:
-1 p=1 ' =
(a) 478 8) B4 (C) BA (D) AB
8. An equation of the form ax® +bx+c¢ =0 is called quadratic if:

9. The roots of x* +2x+3=0 gre:

(A) imaginary (B) real, equal (C) real, unequal (D) rational




R e e e e e e s

-
16, "8 (-x) is equal to:
() cos” x (8) 77 +cos™ x

11. Number of solutions of trigonometric equation is:

(A) finite (B) infinite

12. The 5th term of sequence 3,6,12,........ is:

1

(A) 79 (B) 48

|
13. For two events A and B if P(A) = P(B) = E.Ihen

1 1

A 7 ® 3

3

14, E equals.
(A) 3 | (B) 6

b n
15. Middle term of (a+ ) , whenn is even is:

A th - H th
@ (3] tem (B 571 term

(€) m—cos™ x

(C) only one

o
©) 73

P(AﬂB) is:

(C) 1

C) o

7 th
(C) "2' term

4 .
16. The sum of binomial co-efficients in the expansion of (1"' -"’:) is:

(A) 8 (B) 10

17. 1+tan’ 6 g equal to:

(A) cotf (B) cosect
18. tan(3%-—€) is equal to:
(A) tan @ (B) —coté

19. Period of Taﬂ% is:
(A) 7 (B) 27
20. In any triangle ABC, with usual notations '3 is:

A S=b
(A) S—a B) 4

(C) 16

(C) S ec’0

(c) cot@

© 7

S—c
(C) A

241-011-A-TX 3

(D) sin" X

(D) all of these

(D) 48
(D) Zero

(D) 12

M th
(D) [E_EJ g

(D) 32
(D) —sect
(D) ~tan@

o 3%

(D) S—c



Inter - (Part-I) -A-2015

Roll No. to be filled in by the candidare, |  (FOT all sessions) PaperCode | 6 [0 | 1|9
Mathematics (Essay Type)

- Time: 2:30 Hours | Marks: 80
Section -I |
2, Write short answers of any eight parts from the following. 2x8=16 |
a b a+b % |
i. Prove the rule of addition —+—= : ii. Simplify i°. |
c c c
iii. Write any two proper subsets of 2 set{ﬂs b,c} . iv. Define a semi group.
6 7 8
B
3 3 = S
v. Without expansion show that: 5 t ¥ vi. Evaluate (I+W L )
' 3 4

vii. Write the converse and the inverse of the conditional ~ P = ¢
viii. For 4 = {1,2, 3, 4} , find a relation & = {(x,y) [y= x} ;
ix. By remainder theorem find remainder when x? + 3x + 7 is divided by x +1.

x. If A is symmetric or Skew symmetric. Show that A% is symmetric.

x+3 1 121
xi. Findx and ¥ if | -3 3y-4| |-3 2]|.

xii. If %> B be the roots of x% — px—p—c =0, prove that (I+a)(1+B)=1-c.

3. Write short answers of any eight parts from the following. 2x8=16
1
.. Resolve —; . into partial fractions. ii. Inserttwo G.Ms between 2 and 16.
e n H 9
iii. Find the value of 17, when g = (; iv. Evaluate.gp
3
v. Expand upto 4 terms (1 “I)}é. vi. Calculate by means of binomial theorem, (0*97) ;

vii. Write the first four terms of the sequence ifa, = na,,,a =1.
viii. If 6,8 are two A.Ms betweena@ and b find @ and b.

iX. Ifl 1 and are in H.P, find k.

k' 2k+1  4k-1
X. Define probability and sample space.

xi. Determine the probability of getting 2 heads in two successive tosses of a balanced coin.

xii. Prove th3t1+5+9+ ........ +(4I’.I-3)EH(2H—'1) for H=1,2_

4. Write short answers of any nine parts from the following. - 2x9=18
1+cosé@ 2
. Findr, when ¢_560m  @=45° ii. Prove that: T_ 7= (cosecd +cotB)
_ cos36 sin3@
i. Prove that: tan (45" +4)tan(45° - 4)=1. iv. Prove that: -+~ =4c0526




sin & — si - o+
- L anﬁ=tanaf ﬁcut P
sin & +sin g 2 2

X
v. Find period of €OSéc 2 vi. Prove that;

vii. Ife, 3,7 are the angles of a triangle ABC , then prove that cos (!I + ﬂ) =—CoS¥.

viii. When the angle between the ground and the sun is 30'3. flag pole costs a shadow of 40m long.
Find the height of the top of the flag.

ix. Find the measure of greatest angle if the sides of triangle are 16 , 20 , 33.
x. Find the area of the triangle ABC,if @=18,b=24 , ¢=30.
xi. Show that: tan™ (—x) =—tan™" x

xii. Find the solution of the equation sin x =~ lie in [0,27].

xiii. Find solution of secx = -2 in [0,27].
Section -II
Note: Attempt any three questions from the following. 10x3=30

5. (a) Solve the system of linear equation by Cramer's rule2X+2y+2z =3 ; 3x—2y—-2z=1 ;Sx+y-3z=2,

2 1
(b) Solve the equation; X° +8 = 6x?

4x
6. (a) Resolve (x+1)2 (x-1) into partial fractions.

2 2 2 2 2 2
(b) Ifa,b,c,d,arein G.P provethat 4 —0°,0"=¢" , ¢"—=d” 56 als0in G.P.

7. (a) Two dice are thrown. What is the probability that the sum of the number of dots appearing on them is 4 or 6.

-3
(b) Find the general term in the expansion of (1 +x) , when |x’ {1.

. . . G = -—-—13?1. COS gﬂ —sin 80 —— 370
8. (a) Find the values of trigonometric functions, when 3 - (b) Prove that: 058’ + sin 8° )
o -4 ﬁ - y -1 ' | l - w
9. () Show that, ' = @SIn"-sin —sec— (b) Prove that; 21an” T+ tan " —=7,

842-011-A-14000
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p A Inter. (Part-I)-A- 2016

Roll No. tobefilledinbythecandidate. | (For all sessions) PaperCode | 6 | 1| 9 |1
Mathemaﬁcs (Objective Type) '
Time: 30 Minutes ' Marks: 20 1

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each 4
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each ;
question with Marker or pen ink on the answer sheet provided.

| 2
- 1-1. If Z is a complex number, then |Z| is: ' PR

5 =) — Z
: W2 ® () ©) <2 ©) 5
2. For any two sets A and B, (AﬂB ) is equal to:
r
3. The multiplicative identity in the set of real numbers is;
(A) Zero (B) 1 (C) 3 (D) 2

—
A=]|aij A

4, A square matrix [ J] with complex entries is called skew Hermitian if ( ) is equal to:

(A) A B) -A c M o) 14 ;

ABY”
5. If A and B are any two non singular matrices such that ( ) is equal to:
-1 - | =1 4-1
(a) 4B B) B4 (C) BA (D) AB

6. A reciprocal equation remains unchanged when variable *is replaced by:

|
iy o e B oy AUE o) 4ANB
4
|
|
|
|
|

(A) ",-,1; (B) %1 | (C) _:_z @
7. The roots of equation x2 —5x+6 =0 are: I
(A)2,-3 - (B) 2,-3 ) 2,3 (D) 2,3 J
8. (x—1)" =x*—2x+1is called: | {
- (A) equation (B) conditional (C) identity (D) fraction :

) 9. A.M between 3\/5 and S‘E is:

@) 45 @ V5 © 10 () 2V5




(0. n" term of G.P is:

{A} al }/H

B) 47

41. 117 =1 then value of 711 =1

(A) Zero
12 (ﬂj equals.

(A) 1

(B) 1

(B) n

n
13. General term of expansion (a+x) s

n+l
(A} [." J au—r-xr

(B} (;F—]J o

©)
(C) 2 |

(C) zero

per . [:'”J 4

4
14. The sum of binomial co-efficients in the expansion of (1+%) js:

(A) 8

(B) 10

" 15, cos’ 26 +sin’ 20 s equal to:

-~ (A1

T/ —
16. CDS(A 18] is equal to:

(A) sin /3

17. Period of cosec10x is:

g

(A) 10

(B) zero

27

(B)

(C) 16

(C) sec’ 0

(©) cos f3

i

© %

18. For any triangle ABC, with usual notations r, is equal to:

A
(A) JSr —-d

= o
19. lan(sm J”) is equal to:

{A) 1+2I2

20. The solutions of equation

(A) 1& IV

A
(B) S—c

(B) I—sz

l+sin6’=0
73

(B) 1& 111

FAY
€ s_p

X

(C) V1-x?

are in quadrant.

(C) N & IV

847-011-A-3<

N

D)

(D) -1

(D) 2

(D) [:) a ' x"
(D) 32

(D) 2

(D} —CO0S /5

(D) H&IV




Inter - (Part-1) -A-2016

Eoll No. to be filled in b{'um candidate, (FOI’ all SESSiOﬂS) PaperCode | 6 | O 119

Mathematics (Eésay Type)

Time: 2:30 Hours _ : | Marks: 80

Section -I
2. Write short answers of any eight parts from the following. . 2%8=16
- 3
i. Find the multiplicative inverse of (4 , 7). ii. Find real and imaginary parts Df(\@ + f] :
“iii. Define equivalent sets. ' iv. Define monoid.
1 2 3%
3 -1 -
, _ A= , 2 3 6x|=0 ,
v. Find the inverse of the matrix 3 I i vi. Show that , without expansion.
i, 3 5 9x
4 2 3
Ca A=l 30 . : ; ,
vii. Find the value of A4 if is singular.  viii. Define exponential equation.
2 3 1
ix fU={1,2,3,.........,10}, 4 ={2,4,6........,20} and B ={1.3,5,......,19}, prove that(4J B) = A'N B"

* x. Write converse and contrapositive of the conditional Ng —> Np .

xi. Find three cube-cube roots of unity.

] |

2 2 : 55 L 000

Xii. Ifa’ﬁ are the roots of 3X~ —2x '*'4=U,ﬁnd the values of o +/).2 ;

3. Write short answers of any eight parts from the following. 2x8=16

1
" i. Resolve into partial fractions. ii. Which term of the A.P 5,2,-1....is -85.
(x—])(ZJ:-l) partial fractions ii |
nooon=l '
- iii. Find the value of n if 1?: f: =9:1 iv. Find the number of diagonals of 12 sided figure.
10
g -1 2 3

v. Find the first four terms of (1 il 25") : vi. Find the 6th term in the expansion 1::-f(JL _“2:] .
vii. Find the next two terms of the sequence 1,-3,5, 7,9, 11.ceen

viii. If 5,8 are two A.Ms betweena and b find @ and b.

ix. Convert the recurring decimal 2 23 into the equivalent common fraction.

x: Converin(n—l)(r?—2) ...... (nmr-i—l) in the factorial form.

xi. How many numbers greater than 1000,000 can be formed from digits 0,2 ,2,2,3, 4, 4.

xii. Show that inequality 4" > 3" +4 is true for 1=2,3

4. Write short answers of any nine parts from the following. 2x9=18

1 3 :
: 0 4 6 = 2 2 2 2
2, Veriiy25m45 ¥ 2»::'0 seeds” = J2 i. Prove that; cot” @ —cos® @ =col” @cos” G

i ] 0 0 0
ii. Find the value of tan 75’ ( without calculator).  iv. Prove that: €05306° +c0s234° + cos162° +cos18° =0




,1+Sinc‘x s Sil]%+005% sill(£~9)5i11[£+{?] ——]*CGS 20
v. Prove that\ R sin%—cns% . vi. Prove that; 4 4 7 :

- e el Y A
i. Find the peri deCDSECJ'/_ viii. Show that; 121 {SID '}')_ R
i. Fi perio 4 i ( o

v

ix. Prove that @bc(sin & +sin /3 +sin ?’) =4AS x. Define trigonometric equation.

xi. Find the area of triangle ABC, if ¢ =524 , b =276, ¢ =315,

xii. Find the smallest angle of the triangle ABC, whena =37.34 , b=3.24 , ¢ =35.06.

Xiii. Find the solution of sec x =~2 which lies in[0,27].
Section -II
Note: Attempt any three questions from the following. 10%3=30

3. (a) Use Cramer's rule to solve the system 2X+2y+z=3 ; 3x-2y—-2z=] ; 5x+y-3z = 2

l<a 1-/4

(b) Ifer and /3 are the roots of x> —3x+5=0 form the equation-whose rools are ] 4+ and 1+ /.

2

.
8. (2) Resolve into partial fractions. (x—l)z (x+1)"

a’ +b"
(b) Forwhat value of n au—! 4 B! iIs G.M belween a and b.

7. (a) How many arrangements of the letters of the word ATTACKED can be made

if each arrangement begins with C and ends with K.

10
3
-
- (b) Find the co-efficient of x* in the expansion of [J" 23{] .
8. (a) Prove the identity sin® @ —cos® @ = (sin2 A —cos” 19)(1 —sin* @ cos? (9) .

. 4 40 7 ,
—i _—— i e
(b) fsina = : and cos /3 a1 where 0 <o < /2 and 0 < ff < /2 show that sin (@ — /3)

133
205

.2 " 2
8. (a) The sides of a triangle are * +x+1, 2x+1 and X —1 prove that the greater angle of the triangle is 120°.

o 1 5 |
] . | -1 -
(b) Prove that tan T‘l—'f‘ lan —=tan —+1an

L]
6 3 2

848-011-A-



' ‘)i? CD Inter. (Part-1)-A- 2017

RollNo.__________ to be filledin (For all sessions)

PaperCode | 6 | 1 | 9 | 1

- Mathematics (Objective Type) Group-I
 Time: 30 Minutes

Marks: 20

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A ,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

" 1-1. —a—ib equals:

e M"Jerqi.u?ils;
© (A0 (B) -1 ©) °

3. Sum of complex roots of unity equals:

(A) 0 B) -1 o ©) 1

4. (2','1') has no identity other than:
(A) 1 (B) - © !

5. (fIB)nl equals:

(A} .—‘I_IB_] {B) A‘l {C] B_-l
6. [8]isa:
(A) square matrix (B) unit matrix (C) scalar matrix
x* +1
» 7. Partial fractions of ('TJFI)(X_;) will be of the form:
) A+B A:r:+B+C 1+Ai_B
‘ A x4l x-1 B) x4+l  x-1 © " x+1 x-~I
8. G.M between 2i and 81 equals:
R (B) 4 (C) -4
9. No term in G.P is:
(A) 3 (B) 2 (C) 1

(D) —a—ib

(D) 1

{D) W

(D) O

{D) B“I;’I"'

(D) rectangular matrix

(D) 0



13.

14.

15.

16.

17.

18.

19

10.

11.

12,

(C) 1

(C) 26x*

(C) 25

() 60°

A die is rolled then n(s) equals:
(A) 36 (B) 6
The factorial form of 6.5.4 is:
6!
ik !
(A) 3, (8) ©'
4
In the expansion of (3+I) middle term will be:
(A) 81 (B) 47
l 5
The sum of odd coefficients in the expansion of (L+x) is:
(A) 16 (B) 32
One radian equals:
(A) 45° (B) 50°
sin @ equals:

A) 2sin’ %

X
Period of 'l A is:

(A) * (B) 27
Number of elements of a triangle are:
(A) 3 (B) 4
Radius of inscribed circle is:
& Lg
(A) ¢ B) A
. 2tan” A equals:
tan™ 4 tan™’ 24
(A) | — A (B) 1+ A2
13 |
20. IfCOSX =_2“=3'-' € [U,ﬂ.’]l then x equals:
-7 St
(A) ? (B) 'E"

B) 2sin % cos %

J

(©) 2 cos?

(C) 6

A
©) 5_c

-1
(C) tan (

T
© %

821-011-A-%

%

-2 A4
1+ A°

|

(D) 9

6!
() 3

o) **

(D) 5

(D) 57.296°

é
(D) 2 tan A

(D) %

(D) 8




- Ays

Inter - (Part-1) -A-2017

Roll No. to be filled in by the candidate. | (FOF all sessions)
Mathematics (Esslay Type) | Group-I
'fime: 2:30 Hours' o . | o Marks: 80
| Section -I
2. Write shnrt answers of any eight parts from the following. 1 2x8=16
i Sh'ow_ that Vzec z'+27 Is a real number, .ii. Simplify by justifying each step la | bl
| a'b

ii-

Vil.

Xi.

Xil.

.

Vil.

viil,

Al

. Convert 18°6"21" to decimal form. ii.

Write down the power set of { 9,11). lv.  Solve by using quadratic formula]5x? + 2ax — a® = 0

. Convert( A JB)r = A'"UB' into logic form. vi. If a, b are elements of a group G, solve ax =5
2 3 0 S
39 6=91 1 2 e L o o) R
Show that viii. Provethat{ o 9 ;

2 15 1 2 5 1

| ' 1 2 0 0

~4)+(-3,-8 = ? =
ix. Simplify ( ) ( ) X. IfA Lg b:! and 4 [0 O:I , find the values of a and b.

If the matrices A and B are symmetric and AB=BA. Show that AB is symmetric.

Show that roots of ( p +cj,r‘):*z:2 —px—q =0 are rational.

Write short answers of any eight parts from the following. 2x8=16
. Resolve rzlul into partial fractions. i. Find next two terms of sequence -1,2,12.40,........
Find A.M between*~3 and ¥ +5 iv. Write 8.7.6.5 in the factorial form.
12 noon
Evaluate {) ; Vi, Ifg = g find 7.
Find vulgar fraction equivalent to ().7° recurring decimal.
| I 1
If the numbers 7~ I 7!’{ and m are in Harmonic sequence, find k.
. Determine the prc:nt:;al:nhtyr of getting 2 heads in two successive tosses of a balanced coin.
Show that 4 34 4isnottrue for n=1.
.. Calculate {2.*:1*2)4 by means of binomial theorem.
Expand(l + ZI)_T upto four terms.
Write short answers of any nine parts from the following. 2x9=18

Prove that: €0s” @ —sin’ @ =cos’ @ —sin* 6

L3

sin3x—sinx

=c0t2x.

Find the value of tan 105"( without calculator).  iv. Prove that:

COSX—C0S3x



0 ' : '
v. Find the value of SEE(_3UU )( without table). vi.  Find the domain and range of sec y .

vii. Define angle of elevation. . Viii. The area of triangle is 2437 and @ = 79,¢ = 97, find &
T N -
ix. Show that tanl(sm I) - J:r; x.. Define trigonometric equation.

T ST SN N
xi.‘u’erifysng;smlz;sng;sm—??:1;2;3;4_

xii. A kite is flying at a height of 67.2m is attached to 3 fully stretched string inclined at an angle of 55 to the

horizontal. Find the length of the string.

xiii. Solve sin x +cosx = 0, where. x lies in [0,27].

Section -II
Note: Attempt any three questions from the following. “10x3=30
[ 1+i —
5.(a) If A= R show that A+(A') is Hermitian.
o /fy q/ _
(b) Ifthe roots of px* +qx+¢q =0, are & and /3, then prove that ‘JA? Nat A L
; x’ | o | _ 1
.- (8) Resolve (x B 2) (x— 1 ) into partial fractions. (b) Insert five Harmonic means between 4 and 24
7. (a) Find the value of# and © when C =35 and P=210.
1 1 1 _
. =+ — b i N . S
(b) Identify the series™ 3 36 369 as a Binomial expansion and find its sum.
m~ +1 T
8. (a) Ifcosect = 5, and m > {},[0 <#< ‘2_] find the values of the remaining trigonometric ratios.

(b) Reduce sin” @ to an expression involving only function of multiples of @, raised to the first power.

9. (a) Solve the triangle using first law of tangent and then law of sines ¢ =319,b=168, r=110%22".

. 77 ' -Ii ._1 15
5

| - - _ o
(b) F’rc‘wethatsm _Sg"'sm = A 17

822-011-A-16500



* ' O Inter. (Part-I)-A- 2017

Roll No.

_tabefilledinbythecandidate. | (For all sessions) Paper Code 6 | 1 9 | 2

Mathematics (Objective Type)  Group-II
Time: 30 Minutes Marks: 20

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

1 &3

P — __...I :
equals:

. 9

(A3 (B) 2 (C) 1 (D) zero

-1
2. |If a and b are elements of a group G, then (ab) equals:

(A} ﬂ_lbdl (B) b_jt.’f_l (C] H_lb (D} b a

3. For any non-singular matrix A, 4~' equals:

adjA adjA |4]

_ Al.adiA
A ® T4 ©) 2 (o) |4}-ad)
4. A square matrix A is said to be Hermitian if:
— Z { 1 PR —_ ey F =
w (4) =4 ® (4) =~ © (4) =4 o (4) =4
5, (1% : 'Bare the roots of 4x% +5x—6 =0, then value of 4a +4p equals:
25
(A) A (B) -5 C) -6 (D) 5
6. Ifw is cube root of unity, then 1+ w? +w?’ equals:
{A}1 (B) zero (C} w (D) H-'I
_ " 7. The partial fraction of ( x+1)( 2 _1) will be of the form:
A Bx+C 4 . B _C A_, B A, B
: (A x+1 x*-1 B) x+1 (x+1) x-1 € ¥ 1 x+1 @) x+1 x*-1
) 1 |
8. Arithmetic Mean between two numbers , and 4 is:
a+b 2 a+é 2ab
A 2 B) a+b ©) 24b D) 4+

~9. If A, G, H have their usual meanings and a and b are positive distinct real numbers and G>0 , then

(A) A<G<H (B) A>G>H (C) A<H<G (D) A>H>G



r

10. I A and B are disjoint events, then 2(A4U B) equals: .
A) P(A)+P(B) @) P(A)+P(B)-P(ANB) (g P(4)+P(B)+P(4NB) (p 'P(A)-P(B)

11. If two dice are thrown simultaneously, then the number of elements in the sample space are:

(A) 6 (B) 12 (C). 24 (D) 36
"
12. The number of terms in the expansion Gf(l 2a —’f) r xl <l gre:
: 1
(A) 2 (B) n (C) E (D) infinite

2
13. If n is positive integer , then”?” = n+3 s true when:
(A) 123 (B) W22 ) nzl (D) 7<3
14. CDtE g —CO5 ECEQ equaia:

(A) 1 (B) -1 (c) coté (D) cosect

37
15. "2;""" ¢ lies in:

(A) 15t quadrant (B) 2nd quadrant (C) 3“1 quadrant (D) 4thl quadrant
X
16. Period of 0575 is:
T
& " 8) 27 (€ 47 0 5
17. With usual notaions, in any triangle ABC, if A= 20 a=4 , b=6, ¢=10, then r equals:
_ (A) 2 (B) 5 (C) 10 (D) 15
o ]
1. S| S| 5] | equals:
7 z 1 V3
(A) 3 B & © 5 (D) =
19. With usual notations, / equals:
Fa FaX P A
(A) - B g (C) s—b B) s—¢
. 3
20. If SILX ===, then refrence angle is: _
4 — _E
A & B " (©) 3 D) ~3

823-011-A-3¢
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Inter - (Part-I) -A-2017

Roll No. to be filled in by the candidate. | (FOTF all sSesSiONns)
Mathematics (Essay Type) Group-II
Time: 2:30 Hours Marks: 80
Section -I
2. Write short answers of any eight parts from the following. 2x8=16

]
. Simplify(a+ib)" . ii. If B={1,2,3}, find the power set of B.

iii. Define the conjunction. iv. Define the identity martix.

]

v. If Z=d+ib show that (3—3)

vii. Evaluate the determinent of =~

—

1
A=|2

-2
>

41._

2

!

£
viit. If

0

s real number.  vi. Show that X +V° = (x+y)(:c+wy)(.x-l— wzy)_

-1 L[t
b and‘f B 0

Iil find the values of a and b.

[1
S 4 -3 2] 4

. Does the set{O,—I} have closure property w.r.t addition and multiplication?

Xi.

Xii.

BE

Vii.

wiii.,

. Define proper rational fraction. i

|
. Expand (l“‘-‘f)/“ upto 4 terms.

. Solve the equation by completing square x> -3y —648 = ().

If a, b are elements of a group G, then show that (f.'b)_F =p'a!.

B
p—

ol ' . af
1§ p are the roots of the equation 3X™ —2X+4 =0 find the values of E +

Write short answers of any eight parts from the following. 2x8=16

Write next two terms of -1,2,12,40,.............
8, =n(2n—-1)

, then find the series. iv. Insert two G.Ms between 1 and 8.

vi. Prove that(; = Er .

How many 5-digit multiples of 5 can be formed from the digits 2,3,5,7,9 (no digit repeated).

Determine the probability of getting 2 heads in two successive tosses of a balanced coin.

. A die is rolled. Find the probability that the dots on top are prime numbers or odd numbers.
. Showthat [ +5+9+...... -i—(4n-—3) = n(En—l}is true for n=1 andn=2.
. Using binomial theorem find the value of /99 .

a 2 ]
I. Find the General termof| ——— | .

2 ua

e

] '
I. Convert 34745 ‘into radians.

ii. Prove that. T2 [—sing

1

=2sec2€_

Write short answers of any nine parts from the following.

2x9=18

i. Find * if tan’ 45° — cos® 60° = xsin 45° cos 45" tan 60°

iv. Prove that: cot (e + f)

_ cotacot -1

cota+cotff -



v. Find the value of sin105" vi. Express €03 (x+y)sin(x - ¥) as sum or difference.

vii. Find the period of SI0 % viii. State the law of cosine.
L 1. 1.1 }
ix. Show that: . = .+ " x. Find domain and range of ¥ =C0S™ X _
ron otk
xi. Solve the equationl +c0osx =0 xii. Find the solution of S€€X =2 , X € [01 2”] :

xiii. Find the area of the triangle ABC in which a=18 , b=24 , c=30.
Section -1II
Note: Attempt any three questions from the following. 10x3=30

a+A b ¢
a- b+A ¢ =£Lz(a+b+f:+x1)
a b c+ A

5. (a) Show that

3

3
(b) fa and B are the roots of 5x* —=x-=2=0 form the equation roots areE and E

o | i

6. (a) Resolve (:c-—"')

3 (:v:+l) into partial fractions.

16
(b) if the (Positive ) G.M and H.M between two numbers are 4 and?, find the numbers.

7. (a) How many numbers greater than one million can be formed from the digits 0,2,2,2,3,4,47

1l
3% .l
(b) Find the co-efficient of the term involving x' in the expansion of [ 3 3 :c) ;

P

tan@ +secd —1

, = tan @ +secH
8. (a) Prove that: tanf —sec O+ | :

sina —sin
(b) Prove that: sina +sin f

= fan—— cnt

a-p +5
2 2

9. (a) Prove that in an equilateral triangle riRin=1:2:3

253
(b) Prove that S0 T +sin L o =cos™ =
13 25 325

824-011-A-16000
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DAk ke . amndion e

R{Jll NO. : o be filled in by the candidate. (FDI‘ a" Sessions) F’apEr Code 6 1 9 5
Math ematics, (Objective Type) U vaged
Time: 30 Minutes _ Marks: 20

“NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A.B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each
question with Marker or pen ink on the answer sheet provided.

| - , n i n 1
1-1. 6" isa positive even integer, then[l ]+[3]+(5J+ """" +[}?_]J is equal to:

[A) 2” [B} 2n+l (C) 2;;—! (D) 3-"

- 2. An angle in the standard position whose terminal side falls 6n x —axis or Y —axis is:

(A) General angle (B) coterminal angle (C) Quadranta! éngle (D) acute angle
B (:’T"'g) is equal to:
{A} secd (B} —cost (C] cosé | [D) —sec

4. Range of Cosine function is:

a (L) ®) [-L1] ) [FLD o) L1

5, |n any ﬁ-./‘3“13(:1 .i"i'*]r*zr's =

(A) A B) A ©) & o A
= G=0)-0)
6. With usual notation L is equal to;
i s i & .. B ¥
(A) CD‘SE (B) S]]]E' (C} SH]E {D) SH]E
T ;
7. 08 (=x) is equal to:
Z _sin”x 2 tsin”x Ty | Ty
(A) 5 3 X (B 5 S (C) A+COS X {D} A —CO5 X

8. Solution of the equation fanx+1= 0_ is:

37 | 7
(A) T-}‘jw ' (B) ZJF”F' (C) {E'!'”H} (D) {2H+’?ﬁ},wh6n nesz
9. 1f Z=a+ib whatis the value of 0509
i - b : a b
(A) [{] B © 3 ®) 4




10. A function J:A—>B is surjective if:
(A) Range / =4 (B) Range / =B (C) Range / # B (D) Range J/ * 4
11. Determinant of any unit matrix has value:

(A) Greater than 1 (B) less than 1 (C) 1 (D) zero

12. A square matrix A is skew -symmetric if A is equal to;

(A) A ®) -A € 4 (D) A’
13. The discriminant of gx’ +bx+¢c=0 , a#0is:
(A) b* +4ac (B8) 4ac—b* | ) b*—4ac (D) a’—4ac
14. The degree of the equation x° +3x> +4x+5=0 is
(A) 4 (B) 3 (C) 2 (D) 1
x° +1
18 (x) will be improper fraction if
(A) Degree of Q(J‘) =2 (B) Degree DfQ(x) =3
(€) Degree of @(x) = 4 (D) Degree of @(x)=5
N . '
16. ;K is equal to:
1+1 n i?(I?—I—]) I?(H—])
(A H (B) » (C) 9 (D) =5
17. The geometric mean between 2 and ' is:
(A) £ (B) £2 (c) %3 | (D) +4
18. If A and B are mutually exclusive events, then P(A UB) is equal to:
A) P(A)+P(B) (B) P(A)-Pr(B) ©) P(AB) D) P(A)NP(B)
19. If Cf. C]‘? _then 77 is equal to:
(A) 8 (B) 12 (C) 20 (D) 0
| _ §
20. In the expansion of (x+ J’) . middle term is:
) ® % © 7 o T

821-011-A- T YO VY




* * * * Inter. (Part-I)-A- 2018

Roll No. _ te be filled in by the candidate. (For all SESSiDHS) Paper Code 6 1 917

Mathematics (Objectwe Type) Y
Time: 30 Minutes Marks: 20

NOTE: Write answers to the duestions on objective answer sheet provided. Four possible answers A,B,C & D to each
question are given.Which answer you consider correct, fill the corresponding circle A B,C or D given in front of each

question with Marker or pen ink on the answer sheet provided.

—~2i 8i s

1-1. The geometric mean between and

(A) *1 B) £2 (C) =3 (D) +4

2. [f A and B are mutually exclusive events, then P(4U B) is equal to:
(A) P(A)+P(B) (B) P(A)-P(B) (©) P(AB) D) P(A)NP(B)
3. M CB“—' C]z , then 17 is equal to:

(A) 8 (B} 12 (C) 20 (D) O

§
%. In the expansion of (x+) _middle term is:

@ T ® o © b o) 75
() () (m) o
5 1" is a positive even integer, thenLl FLU’)JX )'+ e L” 1) is equal to:
(A) 2’ @) 2" © 2" 0) 3"

6. An angle in the standard position whose terminal side falls on x —axis or y —axis is:

(A) General angle (B) coterminal angle - (C) Quadrantal angle (D) acute angle
7. cos(7+6) i equal to:
(ﬁh} sec : {B] —cos (C} cosf (D) —-sec(?

8. Range of Cosine function is:
(A) (*]'}) (B) [_]‘]] (C) |-1,1) (D) (—1.1]

9. In any AABC riin = ——

@A) A B A} (€) A’ o) A



S

- (.f.' ~b) (s—c¢
10. With usual notation g is equal to:
| cos & . ' Si'ﬂ}i
| {A) = 2 (B} G111l -i {C) Sin E (D] 2

- ;
T (Fl) is equal to:

2 —sin”' x 2 4sin”' x " | X
(A) 2 ® 5 1 (C) T+CoS X (D) T —C0S X
12 Solution of the equation tanx+1=0 jg;
-3?{ T
(h) %"I‘k_”ﬂ'} (B} {E%‘ ”ﬂ'} {C} {:’T -+ ﬁﬂ'} (D) {ZE"*‘”H} ,WhEﬂ HeEz
43. 1f 2=07F ib \what is the value of cost 9
a E_ a b
(A) ‘z\ (B) lz[ ©) O) ,

14. A function f:d= b is surjective if:

(A) Range _f': A (B} Range f =5 (C} Range f =5 {D} Range f + A

15. Determinant of any unit matrix has value:

(A) Greater than 1 (B) less than 1 (C) 1 (D) zero
16. A square matrix A I skew -symmetric if o is equal fo!
(A) A (B) -A c) A D) A’
17. The discriminant of ax’ +bhx+¢= 0.a# Ois:
(a) b* +4ac @®) 4ac—b’ ) b’—4ac D) a” —4ac
18. The degree of the equation W 43x+4x+5=0is
(A) 4 B) 3 (C) 2 (D) 1
x* +1
19. {)(:r) will be improper fraction if
(A) Degree of 0 (:") =2 (B) Degree of 0 (:") =3
(C) Degree of O(x)=4 (D) Degree ::-fQ(I) =2
11
20. ;!{ is equal to:
. =]
n+1 n J?(_JH-‘]) n(n-1)
(A) 1 (B) > (C) 7 (D) D
§21-011-A W W WKW
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Inter - (Part-I) -A-2018

Roll No. to be filled in by the cundidule. (For all sessions)
MathematicS (Essay Type)

Time: 2:30 Hours Marks: 80
Section -1
2. Write short answers of any eight parts from the following. 2x8=16
i -1 y Y
i. Separate into real and imaginary parts | 4 ;. ii. Simplify ?_ 2+ ]
iii. Write the converse and inverse of qg—=>p. iv. Define the terms proper and improper subsets with example.
) -2 3
v. Find inverse of| _, 5 |. vi. Differentiate between £ to and on to function.

vii. For a square matrix A,

. o
— 4+
ix. Solve 15x° +2ax—a’ =0 by quadratic formula.  x. If &, 8 are roots of 3x? —2x +4 = 0 find Vi

xi. Does the set{U,ul} possess closure property w.r.t "Addition" and "multiplication"?

xii. Show that roots of equation (p+ g?g')Jt‘2 — px—g =0 are rational.

3. Write short answers of any eight parts from the following.

2 2
+1 ;
. Resolve into partial fractions ] I Wy =l Tt ina:
x —
L F?(H + 1\‘ n
ii. Prove that 2. K == v. Findn,if =30
k=1
n, 12x11
v. Findn , it G = TR vi. Define the probability.

vii. If 5 and 8 are arithematic means between a and b find a2 and b.

121
viii. Find 12" term of Harmonic progression E’E’E’

ix. In how many ways 4 keys be arranged on a circular key ring?
x. Prove the formula 1+34+5+........ + (2}? —1) =n’ forn=1,2.

Xi. Find the term involving x* in the expansion of (3 —~2:-:)? ;

i ]
xii. Use binomial theorem, find the value to three decimal places (1.03)3 :

4. Write short answers of any nine parts from the following.

2tan @

2

i ] -
i, Verify 25in45° +'2"CDS€C45[] =%§. i. Prove that:

l+tan” @

=2sinfcosf

viii. What is Rank of matrix? Explain with example.

B
o -

2x8=16
2(y-1)

o0, show that x = ———=.

J}

2x9=18




: n 2o
. tan(45° + A)tan(45° — 4) =1 . el = tana
. Prove that ( ) ( ) . iv. Prove that: TR .

o
v. Define period of a trigonometric function. vi. Provethat 7/ = (S —a)tanuz—_

1
-1 o ® :
vii. Prove that fan E"f lan rie tan " — viii. Solve Sinx+cosx =0

197

2
ix. Solve the trigonometric equation S€¢” € = % .

o+ ﬁ Ty
xi. % 5 be the angle of a triangle ABC then prove that COS 5 =S/

xii. Find the smallest angle of AABC whena=37.34, b=3.24,¢=35.06
xiii. Find area of triangle ABC given three sides ¢ =18 , b =24 ;=30

Section -II
Note: Attempt any three questions from the following.

5. (a) Convert into logical form and prove by truth table of (A (B ) =A'"UB’".

(b) Find the value of y if given system has non-trivial solution

X + 4%, + Ax; =0,2x +x, —3x; =0,3x, + Ax, —4x, =0

6. (@) 1% are the roots of JL.2ﬁ"u"]”:*p_"r:’b=C',thEn prove that: (1+a)(1+5)=1-C

x° +a’
(b) Resolve into partial fraction [Iz 4 b2 )(Iz pE )(xi +a’2)

7. (@) The sumof 9terms of a A.P is 171 and its eighth term is 31. Find the series.

(b) IfXis very nearly equal 1 then prove that: px’ —gx® =(p—-q)x™.

8. (2) Find the value of remaining trigonometric function of Sin & = "5

and the terminal arm of the angle is not in quad IlI.

sin36 cos36
: + = 2cot 26
(b) Prove that: cosf@  sin@ ;

9. (a) Prove that: 1 t1a 13 —1=4R

8
i 1l . - [ ok
(b) Prove that; SIN = +SIn 17" %5,

822-011-A-

. Find the radius of the circle in which the arm of the central angle of measure 1 radian cut off an arc of length 35cm.

10x3=30




‘iﬁ' ' Inter. (Part-I)-A- 2019

Rﬂll Nﬂ_ to be filled f-“ by the candidate. (For a“ Sess ions) |

PaperCode | 6 | 1 | 9 | 1 |

.Mathematics (Objective Type)
Time: 30 Minutes | |

NOTE: Write answers to the questions on objective answer sheet provided. Four possible answers A,B,C & D to each

question are given.Which answer you consider correct, fill the corresponding circle A,B,C or D given in front of each

guestion with Marker or pen ink on the answer sheet provided.

- 1-1. Ifz=cosO+isin0,then i equal to:
(A) O (B) 1 (©) 2
2. FDrI any WD subsets A and B of set |, then (_4 UB)I is equal to:
['A) AUB' | ANB' c) AUB |

—\1
3. If "A" is a square matrix and (A) =—A  then "A" is called:

(A) Skew Symmetric (B) Symmetric (C) Skew Hermitian
4 x 3
- A=|T 3 6] _ _ _
4. If 5 3 1 is a singular matrix, then "x' is equal to:
(A) 3 @ 4 | ©) 6

- 5. 1f% and £ are roots of ax’ +bx+c=0, then @-B is equal to:

@ ® % © %

" 1. . 2 2 .
6. If W' is a cube root of unity, then (1 TW=W )(1 =W ) will be equal to:

(A) 3 (B) 4 C€) 2
3 ] A

=z ;
7.1f (J_-._])(x i 2) y—1 x+2,then"A"is equal to:
(A) -1 ' B) 3 . C) 2
8. The n'" root of product of n Geometric Means between a and b is equal to:

]/f Him
(A) (ab)’" (). ab - () ndab

8. finanAP;d . = 2n—=3 | then 4 will be equal to:

n!
. 10. (” —r)‘r‘ is equal to;
P I = 1
(A) (H _ (B) Fn (C) - (Jr'

Marks: 20

) 3
ANB"

(D)

(D) Hermitian

(D) 4

(D) '\.@

(D) n—1

1

-

(D)



11. Number of signals given by 5 flags of different colours using 3 flags at a time equals.

(A) 30 (B) 40 (C) 50 (D) 60
12. Sum of even co-efficient in the expansion of (] ) .1:) equals.
(A] 2n+1 (B} 2::—] (C) 2n (D) 2]_—n

. |
13. Third term in the expansion of (1 ~2x)% i equal to:
~9x 9x? 4 7 _4 /
(A) 3% (B) "% | © "/ @ ~"* /9
14. The area of a sector of circular region of radius 7 and angle g is equal to:
lrgz —r0 | -6* ‘0
A ®) > ©) (©) 7

2 : 2 .
15, |f6c0s” @+ 2sin” 6 =5 _then tan” @ wili be equal to:

3 ] 2
(A) o (B) 3 €) 5 (D) 5
2 X
16. Period of smg is equal fo:
_ | | 2
()19 (B) 7 () 27 0 3

0
17. In an oblique triangle , iIf a= 200 ; b =120and included angle s 150 . then its area will be equal to:
(A) 6000 o (B) 5000 (C) 2000 (D) 12000

18. If 1" is the circum-radius, then its value is:

ac ' ab abc abe
A an BN © 2 0 A
19. The value of S11| COS 7 is equal to:
; _1 l
(A) 1 - (B.} =1 | C) 7 (D) »
20. The solution of cosec@ = 2 in interval [(],2:!.?] is equal to:
T In T Sr T Sw | T
5 A 6" 6 B 66 €36 P 3y

821-011-A-



Inter - (Part-1) -A-2019

R'ﬂll Nﬂ'. to be filled in by the candidate. (FDr a" SESSiDHS)

Mathematics (Essay Type)

Time: 2:30 Hours - | Marks: 80
Section -I
2. Write short answers of any eight parts from the following. | 1 2x8=16
S I
; 4 5
i. Find the modulus of complex number 3+41 ii. Simplify by justifying each step | by writing properties.
45
iii. Factorize the expression Q4% +16b%. iv. Define absurdity and give one example.
1 2 1
4x, +3x, =5 =
v. Solve the system of linear equations. 3 S 7 vi. Find the value of X if 2 x 2 0,
W4 = 3 6 x
~ vii. Define Row Rank of a matrix. viii. Solve the equation 2 _10=3x"".

ix. 1f A= {1: 23354} B = {3: 4,5,0, 7:3} ,C = {55 6,7.9, 10}' verify distributivity of union over intersection.
X. Find the inverse of the relation {(113)3(255),(3=7)=(439)=(5=1 1)} :

xi. Use remainder theorem to find the remainder when ,3 _ ;2 4 5§54 4 isdivided by ,_ 7.

xii. Find the roots of the equation 16x? + 8x+1 = 0 by using quadratic formula.

3. Write short answers of any eight parts from the following. 2x8=16
l. Resolve — 1 into partial fraction. i. Find 5" term of Geometric progression G.P 2,6,12,.......
X r—
; L
iii. Define Circular permutation. iv. Expand (4 —3.x)1 upto three terms.
111 | a-c

v. If a’ b’ carein Arithmatic progression (A.P) show that common difference is Yap:

vi. 1f 5,6 are two Arithmatic Means (A.M) between "a" and "b". Find "a" and "b".

1 ] ]
vii. If the numbers Lk +1 f4k-—1 are in (H.P) Hormonic Progression, Find "K".

viii. How many words can be formed from the letters of PLAN" using all letters when no letier is to be repeated?
H N
ix. If ‘fj= C'4 . where € stands for combination then find value of 77.

x. Verify the inequality 5 > 2" —1 for integral values of n=4,5 .

1-x 3
xi. If X is so small that its square and higher power cab be neglected, show that =]—=x
_ 2ab V17X 2
xii. Prove that Hormonic Mean (H.M) between two numbers "a" and "b" is 5
o a+
4. Write short answers of any nine parts from the following. 2x9=18
2tan @

i. Prove the fundamental identity cos’ @ +sin’ @ =] . ii.  Verify the result tan 260 = mﬁar 6 =30 :



cos11% +sin 1_1”

ii. Show that — 70— 70 = tan 56° v Prove that €08330°sin 600° +cos120°sin150° = -1
- . a . .Y
v. Find the period of €05€€(10x) vi. Show that? =4Rsin-=-sin =-sin = with usual notation.
. i b 20—
| cot 1
vii. Find the value of €08 (51“ EJ ; viii. Show that ———5— =2cos” 61,
' - ]1+cot” @

ix. Exprss the following difference as the product of trignometric functions COS 76 —cos@ .

x. In any triangle AABC |ifc=16.1,a =42°45',y =74"32" thenfind "B" and "a".

xi. Find the area of triangle ABC, given two sides and their included angle @ = 200,5 =120,y =150",

o ]
xii. Find the solutions of the equation €0t & = & inthe interval [0,27].

xiii. Find the values of @ satisfying the equatimnu 3tan’ @ + 2\/5 tan@+1=0-
Section -II

Note: Attempt any three questions from the following. | 10x3=30

5. (a) Verify De Morgan's Laws for the given sets: U = ) G i, SR 20} A= {2, 4, 6,......20} = {1,3,5,......19}.

(b) Find the value of " if A is singular matrix, ©*

T a P |4
6. (a) If the roots of sz +gx+qg=03are « and [, then prove thatJ‘%"'J%*’J"; =0

4

4
A A=|7
2

'
(b) Resolve into partial fraction _ 5
- 81
7. (a8) The sum of an infinite geometric series is 9 and sum of square of its terms is "S‘_ Find the series.
o 1= 24 13(2 LS 2T+ N it 32 42y —4=0
e e o ——] = | Fmreins , then prove tha Amal Soet”
YE5 s ) T3 (s P

8. (a) A railway train is running on a circular track of radius 500 meters at the rate of 30Km per hour,

Through what angle will it turn in 10 sec?
.
(b) 1ftana =- g and sin 3 = 55 and neither the terminal side of the angle of measure & nor that
of B isin IV quadrant. Find S0 (a+8) and cos(a+f)

| 1 |
9. (a) One side of a triangular garden is 30m. If two corner angle are 22° 5 andl 12! — , find the cost of

2

planting the grass at the rate of Rs.5 per square meter.

..I il _E
(b) Prove that tan Z+'_[ﬂl”1 "5' tan F}___ 7

822-011-A-




0 b,. llllulm [n the :.mduhm: l Inter. (Part-1j-A-2022

Mathematlce (Objective Type) (For all Sessions) ("Paper Code [ 6] 1
Time: 30 Minutes [\’ldl ks: 20
Note:  You have four choices for each objective type question as A, B, Cuand D. The choice which you think is

correet, fill that circle in front of that guestion number. Use marker or pen to 1ill the circles. Cutting or
filling two more cireles will result in zero mark in that question. Atiempl as many questions as given in
abjective type question paper and leave others blank.

B
1.1. 0
(Ay 0 B) = €y 3 (D 6
2 (Cisvalid only if.
(A) r<n (B) r>n (C) rén () rza
3. Sum ofexponents of wand b in the expansion of (a + b)" in each term is,
(A) n (B) 2n €y w (D) n+l
a. i
4. tind in the expansion of‘(i\——m—l—) s
(A) Slh (B) 7m ((\) 4“‘ (D) Blh
5. What angle is quadrental.
(A) 30° (B) 45° (€) 270° (D) 190°
6. 1-Cos20=
(A) 28in°0 (B) 2C0s'0) (©) zsm-‘% (D) 2('“3-2%
7. Domain of Tangent function is K excluding. ) R
(A) = (B) 7;:»}— (©) (2n+1)A (D) (2n+1) —;1
8. With usunl notation. 28 -b=
(A) a-c¢ (B) a+c (C) 2bte (D) 2btb+le
9. Radius of e~ circleis g given b)
A o S=b A
TA) s ot 2.9 @y 2% B et
) S—b )S b © A ® §+C
10, x 2+ ory <-1isthe domain of.
(A) Sinx (B) Cos'x (€C) Sec x (D) Cor' x
1L The solution of sinx + Cos x =0 in [0,2,‘(]
A s A w A A
A) =— B) — ¢) - D) -
) = ® 3 © 2 ) =
[2. Argument () of(\/S -«-i) is.
(A) 60" () 30° (Cy 45° () 90°
13. { I, mz} is group under.
(A) Addition B) Subtraction (() Multiplication (D) Intersection
14. Fornon singular matrices A and B XA = Bl = X =
(A) A'B (B) AR (C) (AB)! (D) (BAY!
15. If order of A isn x m and order of B is m x n then order of (AB)' is,
(A) nxm (By mxm (C) mXxn {D) nxn
16, IF4° _«% then x =
TS IA By 2 (©) % ) 2
17 1f y—a isafactorof f(x). then for f(x)=0x=als,
(A) Root (B) Factor (C)  Polynomial (D) Degree
18- partial fraction of -~‘~|——1— will be of the form.
X +
(A) _“.'.:L%_._’z () __!—_% {3.\'H © ———'-w [:‘x-r( D Av+ B % ‘('
x#l o xtexrl x+l xP-x+l x4+l xtxtl Tl exl
19.  Geometric series is convergent if.
(A) Irf<1 (B) =1 (€ |d 1 (D) jr| 21
2. ¥ K=
K=l
a=-1){n~2 1—-1)(n -2 2 +1)(20+1
(A) n(n l(n ) B) n(n é(n ) ©) u(n+])}( n+l) D) n(n IZ}( n+l)
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